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General Instructions :
(i) This question paper contains five Sections : A, B, C, D and E.

(it)  Section A contains questions 1 to 8 carrying one mark each. Answers to

these questions may be given in one word or a sentence.

(iit)  Section B contains questions 9 to 13 carrying three marks each. Answers

to these questions may be given in 50 — 75 words.

(iv)  Section C contains questions 14 to 19 carrying four marks each. Answers

to these questions may be given in about 120 words.

(v)  Section D contains questions 20 to 22 carrying five marks each. Answers

to these questions may be given in about 150 words.

(vi)  Section E contains questions 23 to 25 carrying six marks each. Answers to

these questions may be given in about 200 words.

(vii) There is no over-all-choice in the question paper, however an internal
choice has been provided in 3 questions of one mark, 2 questions of three
marks, 2 questions of four marks, 1 question of five marks and 1 question

of six marks. You have to attempt only one of the choices in such questions.
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SECTION A

1. ¢@ e fafiee’ & yery fgees & 1 faftm yem &1 it o @ 2 | 39
IFfH T FIA d9 FW W W 7 NEE IUET yeeus — W, faquE
Tergeh — for q fo Yerae — 31fcd @ | o S8 g §TS T3 ATl Sl SHed
&, ITh! faweiour htd &, 38 STvaEd id & foh Ik faWHT § 3I9Yh HHa Ik
B, 3¢ AAWIH B e Higd 3 q91 sfed 3w hH witd & forw 3=
AN e § |
I 3fgRaa wrt & sfdafics t 3R+ *1 Ieo@ Shifvw e fsarea
I GU T WM RPN a1 8, FH W I FI W E 2 | 1

Das is the Managing Director of ‘Gamut Ltd.’, manufacturing different
varieties of cheese. He has an efficient team working under him
consisting of Rajat — the Production manager, Vinay — the Marketing
manager and Adit — the Finance manager. They understand and
interpret the policies made by Das, ensure that their departments have
adequate manpower, assign them the necessary duties and motivate
them to achieve the desired objectives.

State one more function other than those mentioned above, that this
team may perform at the level they are working.

2. ‘Targ’ o STMUR W TR I qA1 IoeilRicd | 3Tt ¥ hIfvu | 1
STt

‘31’ o YR W ‘TERcd qT ‘ITIAT H =k T hIfVT | 1

Differentiate between ‘Authority’ and ‘Responsibility’ on the basis of

‘flow’.

OR
Distinguish between ‘Responsibility’ and ‘Accountability’ on the basis of
‘meaning’.

3 P.T.O.
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3. T’ 1 T 31 B 2
STt

‘Hited’ k! giIiNg <hifae |
What is meant by ‘Rule’ ?
OR

Define ‘Organising’.
4.  Tagem’ & foredl 1 fomiwanati w1 Seor@ I |
HAAAT
‘31ate griT Yeeg w1 319 dfu |
State any two characteristics of ‘Directing’.

OR

Give the meaning of ‘Management by Exception’.

5. U Ush aiqera Hoft ot ‘wiferan fafies’ &t rorsclt 318 d 2l T
% &Y 4 R W 2 | 98 gH IR FHTR T GA i hdl 7, S
Juera it fafim R i sl nfafafert &1 i = 2 | = o7 o=
I8 BRI o R 1 TAIIT HL @ AT, I Tsh HIETR M hl hal fh
3k HE H IR AT S GhaT § | Ak 4 HAA hl ol = g7z fh
39T hH < Tal o |

3 feorfa & gwret Tuwor <6 79T o YRR hl 98 shifu |

Kamal is working as a gang boss in the assembly unit of ‘Sokia Ltd.’; a
laptop manufacturing company. He supervises the work of ten trained
workers who perform the various activities related to the assembly of the
laptops. One day when he was supervising the work of his workers, he
told Ashok, a worker that his work could be improved. Ashok interpreted

the comments of Kamal as that his work was not good.

Identify the type of barrier to effective communication in this case.

4
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6. I8 SR foxit@ yREra & 9 wd foha o @iy 3 o=+ a1 a1 & &
A, YA TE € hl S9A1 @ Sl 3 UHGH hl WA W @E Hl

g |

TSR hT T8 TINTT qAT I&T HefHd i hl T8I ity | 1

This market helps to save time, effort and money that both buyers and
sellers of a financial asset would have to otherwise spend to try and find
each other.

Name the market and identify the function being referred to.

7. PUR Teh A 38 ITAM L ATt AT ~IqH TG o1l FeflH OHegl aTel
R GleAT I8l o | 38 UH R TETad i Il Ueh (oo <@l a7 3§
HIOH % WEH T TR—T &l hR Yehid i T8 off | Ird<id d gug faqom
TEYH A AR o HEOHT IUR GlaUTd, TWREE Ha1d 99 3 Sgd-H g9l
ot Yo T W g o8 TRaR T i 997 39S & oS & Uid W@rhake
(stie m1) forenfea s # srcafies wgman fuerd 2 |
foqum yag o 39 HR S ggEH Hive e fovg d fouvm yege $AR @
T L TET AT | 1

Kumar wanted to purchase a fuel efficient car having the latest
standards regarding minimisation of pollution. He saw an advertisement
offering such a car and visited the showroom of the company wherein the
car was displayed. In his discussion, the Marketing manager told him
that the company is providing credit facilities, maintenance services and
many other effective services which are helping in bringing repeat sales
and developing brand loyalty.

Identify the marketing function which the Marketing manager was
discussing with Kumar.

8.  3Tog Jaiowd fAfdg’ 39 90" % A, Hed HI 17, 2019 § IYE Hlh
Teh T8 <l 3dfY & U T 15,000 & fSEhee W o= &1 T&dd N &l 7 |
"Feg Sifost foftiee’ grn Swa <t 8 forshd e Ticfarfer sht we=e
HfT | 1

‘Ultra Televisions Ltd.” is offering its 90" TV sets at a discount of
¥ 15,000 for a period of one month starting from 15* March, 2019.

Identify the sales promotion activity used by ‘Ultra Televisions Ltd.’.

5 P.T.O.
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SECTION B

9.  YIY o MANH HR % HEW o Thwal A {93l i eS|
arra
&Y o e S i fhedl @i HimreTt s smems |

Explain any three points of importance of planning function of
management.

OR

Explain any three limitations of planning function of management.

10. ffafgd & mar W fiu=niies @ sHiv=ies 9ied § sf=aye shifau :

(%) 3T,
(@) feepr; qen

(M) Aqged |

AT

fefefiad fomgati % SMuR W wrforss &=qT qor fawrfe d@w=mr § s

W@ﬁl’ﬁ:

(%) "=

(@) vEgh forehm; q

(1) @r |

Distinguish between Formal and Informal organisation on the basis of
the following :

(a)  Origin;

(b)  Authority; and
(c) Leadership.
OR

Distinguish between Functional and Divisional structure on the basis of
the following points :

(a) Coordination;
(b)  Managerial Development; and

(e) Cost.

LW
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11.

12.

13.

gforeor i fafeei % €9 A Uehrse ufveror qenm ‘wivteomeff wRiRA’ R
REEIE

Explain ‘Vestibule Training’ and ‘Apprenticeship Programme’ as methods
of training.

‘gfayfd sTR # 3fea gersti qen =R fgd i S ¢ AR gfavfa qen
fafma 91 &1 T S 2 | 39 I & Jooi@ e e I8 w1 e 8
AT 30 1 & fohegl I 31T R T Seai@ HINT |

One of the functions of Securities and Exchange Board of India is
‘Promotion of fair practices and code of conduct in securities market’.

State the category to which this function belongs and state any two other
functions of this category.

‘S, dicd’ aftsshd sl o MHiAT 8 | O o 3cUEd JEUSh A & HGR
TRl oTmefiy S Wi fdie € fop aftssha skt <6 Fmior & W Uk wefH ol
ST B difeh SR ® ST s ammar fhn S @ it o= wfaanht s
FIH & U o wefiAi &1 T W w® 2 | wh forga fovewwr W g
TEHAH TR % WY Teh 5 Tl HE 3 i o1 o forn e | 3w
Y fofer form o for 38 e & fou fam Sdenrelia foxite @l @ wwza foran
W | MY S 3 wgd-E 7 Sl gon i SR 3@ Ay 6 e e W
fotar form St fersreptsti ot stferepan gfawet ¢ Toh |

(%) mefiy 99 grr fere e faefi ot =t wg=nfo |

(@) 39w (%) T ggaH MU vl & gaifad s arel gl dF Sent

HHATSU |

‘G. Motors’ is the manufacturer of sophisticated cranes. The Production
manager of the company, reported to the Chief Executive Officer, Ashish
Jain that one of the machines used in manufacturing sophisticated
cranes had to be replaced to compete in the market, as other competitors
were using automatic machines for manufacturing cranes. After a
detailed analysis, it was decided to purchase a new automatic machine
having the latest technology. It was also decided to finance this machine
through long term sources of finance. Ashish Jain compared various

machines and decided to invest in the machine which would yield the
maximum returns to its investors.

(a)  Identify the financial decision taken by Ashish Jain.

(b)  Explain any three factors affecting the decision identified in (a)
above.

7 P.T.O.
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14.

15.

Qs A
SECTION C

TR JTaur i fohegl @R foemanati sl awemsy |
HAYAT

“Torggiertor’ &t fopmel am fomiwareti ot |awemsy |

Explain any four features of business environment.

OR
Explain any four features of ‘demonetization’.

¥ 2005 B FUMA 3 Teh HUGT HIUA! o IcdTed [IAqWT T SR (I79) TR W
Jagsh o ®9 H UG UEW foRAT | 3ok 3T=® B % SO 98 a9 2010 H
HFIT T 39-3cUTeH Jageh s AT | 35k U9 Yfdsel U @arfa off dor el §
gafl 3HHT T L ¥ | 1 A, 2019 I U HEHT o HH J64H & 98 T
TGEd G TR | HUMA AT YSEfd W 9gd G AT (i S 98 Al 5
T o7 fEh a8 I o7 | U oT% YEUsh o ®9 H PUMNA A SATvAhAl-hy
forgra =1 TmeeR I fafie arrarett W el B, 3de refieen i Aty
HH H ol fomn | sEe w8 omwa TR T =fEi o EER IR
JMMEvTRdTe W A T 2 3R Ueh Jageh 79+ HUETNET shi SETIhAreT
TS Heh 3h STIER bl IHTfd L Tehell B |

(%) SETIHAl-HH g 6 Th TTIaT Hl Jeot@ ITYH TTeg | foham T

2 | 38 faga h 3= 9wt w1 Ieag hifvT |
(@) UM g HUTA i hiA-Hl FERIHATE TR &3, Ioai@ I |

Kunal joined as a shop level manager in the Production department of a
textile company in the year 2005. Because of his good work, he became
the Deputy Production Manager of the company in the year 2010. He had
status and prestige and was well-respected by all in the company.
On 15t March, 2019, he was promoted as the General Manager of the
company. Kunal was very happy on his promotion as now he had become
what he was capable of becoming. As a good manager, Kunal decided to
motivate his subordinates, after understanding the Need Hierarchy
theory which is based on various assumptions. He realised that people’s
behaviour is based on their needs and the manager can influence the
behaviour of his employees by satisfying their needs.
(a)  One of the assumptions of Need Hierarchy theory is stated in the
above paragraph. State the other three assumptions of this theory.
(b)  State the needs of Kunal which are being satisfied through
promotion.
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16.

17.

2010 ¥ ‘®gH sfea fafes’ Hrot Uohss @ o 3cdTed H o § | 39 3@ty
H 9gd | U 4 9o H yow TR dau ‘ged sfean fafiee’ wi wlen
TET 2 @ 8§ | 9 AT ST FHAT B o fole qe1 sTeik # fged g @ fae
HEHT § GO 7K S T 100 U I SATATHA AR § T8 A | Fge
&1 ol foman | 39 o o1 R 9 & o et 3 9% ot sl it
H 1 o T | et 6 fo favm 3 s1gem @ foh 39 9% ROTaEt i
il st <l STTHTHG @ T 10,00,000 BT | HEGHT 36 FARIH AT i
QU AT e 2 |
(%) 39 3ew¥ & ToAC gt g fifir fopy S ol WOt Rt |HETsT |
(@) foxita oo o fopm YR § SWIE () T THSAT T I T oH-¢F foha
ST B 2 I8 oft auzrse ok 39 iR § g fohaw gifera g € |
‘Foods India Ltd.” is a company engaged in the production of packaged
juice since 2010. Over this period, a large number of competitors have
entered the market and are putting a tough challenge to ‘Foods India
Ltd.’. To face this challenge and to increase its market share, the
company has decided to replace the old machinery with an estimated cost
of ¥ 100 crores. To raise the finance, the company decided to issue 9%
debentures. The Finance department of the company has estimated that
the cost of issuing the 9% debentures will be ¥ 10,00,000. The company
wants to meet its floatation cost.
(a) Explain the instrument that the company may issue for this
purpose.
(b)  In which type of financial market, is the instrument explained in

(a) above traded ? Also explain how safe the instruments are in
this market.

IR GReAur A, 1986 % WY o FATER IUAET hi g e |
SDC]

UE fopedl 318 TRdl 1 Jooh@ HINT S IUNIET 1 39T &, Ale IFererd
f3rerad 1 Tenefan @ Fqee 8 |

Define a ‘Consumer’ according to the provisions of the Consumer
Protection Act, 1986.

OR

State any eight reliefs available to the consumer, if the court is satisfied
about the genuineness of the complaint.

9 P.T.O.
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18.

19.

TS I7UTE o YeI-Fufor s yarfad e aret foheel o1 SRl Sl THeST |

Explain any four factors which affect the fixation of price of a product.

‘wré I fdfids’ 31 AU WSl & fTU T 40,00,000 S IS Tehioid il
TTEdl B | 39 T ol ThiAd i o U T2 K01 A1 AT o HHfaiad

fiyFaNAdw @ 2 :

e o s o

K (%) II (%) III (%)
A 40,00,000 30,00,000 10,00,000
Eaul 0 10,00,000 30,00,000

311 foraror ffefaa #

T TN & 9%

THAT W h1 Afhd o T 100 ¥fd

R 30%

N Td L H 99 ¥ (EBIT) T 8,00,000

()

Al faredl & 9 fopm fashed & St=aild gl 90T W SAYR HT A9

33T Tehdl B ?

(@) w1 =0 | ghg o Y T AN MW | gHI Jhg B @ ?
‘Smart Stationery Ltd.” wants to raise funds of ¥ 40,00,000 for its new

project. The management is considering the following mix of debt and
equity to raise this amount :

(a)

(b)

Capital Alternative
Structure I(3) IT (%) III (%)

Equity 40,00,000 30,00,000 10,00,000
Debt 0 10,00,000 30,00,000

Other details are as follows :

Interest Rate on Debt 9%

Face Value of Equity Shares < 100 each

Tax Rate 30%

Earning Before Interest and Tax (EBIT) < 8,00,000

Under which of the three alternatives will the company be able to
take advantage of Trading on Equity ?

Does Earning Per Share always rise with increase in debt ?

4
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SECTION D
20. ‘U= <kl forgl gt fomIwdreti sl "Hesy | 5
HAYAT
‘S’ I fergl gi= famivarsti =1 g9y | 5
Explain any five characteristics of ‘Co-ordination’.
OR

Explain any five characteristics of ‘Management’.

21. foem, o fafiee’ st w1 gea yareH Al of, S R e dare
P IAq ATFERR AIogZH YgH R W@ a1 | 9 Ul 9Rg a9 § Fa@™
THAATYED It @ 9 R 37T oW Alid 1] 9 | Tfehd g T av 4
36 U Hggw TR Tob owemm i 93 ey e @ ¥, Rl ofd wmm W
S @ R, T ot o wed ST @ 8 | TR wHeR war A8 o 91 @1 o ok
qaE el & | 35 Tspanett it wifa W feee @ Feqor s sy fopam it
Ig IE 99 91 W o1 fh FE $9 T 2 | THH UgA fh @™ HI HIE aE@
IHAM Bl ST, I8 IS HRAE! AT argdl o1 | T 3 T argen geer foaems
i T fopen s ot 1 wifd R Tt o arn fob e TeTerh

HX § ¥ S Tafeedl g1 W1 o1 3R M Fl I 59 § S @ A1 | 98

Tehgl T TN 3H YfTE & FTel Y foIT T | SEE WS # STy Ud I

T IIATE] ST 3N HHSATNET o SSHH FIgR hl HH Hid H TgrEdl el |

(%) ST 3=Se § Y9 o o SRl 9 YehIT STl T &, 39 U |

(@) UH HIE 97 = qier W oqEe 4 Yo" &1 98 HE e 6l
HEMAT o HehdT 2 | 5

Vikas was the Chief Operating Officer of ‘Yalet Ltd.’, a company
providing advanced software solutions to Indian Defence Services. They
had been carrying on business successfully for the last twelve years and
earning enough profits. But from the last one year, they realised that
though the business is getting big orders which are being fulfilled in
time, even then the revenues kept on decreasing. Vikas was not able to
find out where the problem was. He started keeping a close check on the
progress of activities as he could sense that something was wrong. He
wanted to take some action before any major damage could be done to the
business. Vikas appointed a cyber security expert who monitored the
company’s processes and found out that the computer operator was
deleting the entries from the computers and pocketing the revenues. He
was caught and handed over to the police. This created an atmosphere of
order and discipline in the organisation and helped in minimising
dishonest behaviour on the part of the employees.

11 P.T.O.
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(a) Identify the function of management highlighted in the above
paragraph.

(b)  Explain any four other ways in which this function of management
may help the organisation.

22. ‘g fafieg’ afecie, fope, e aom E YR o 31 3IcqmGl < A
2 | B T8 1Y 3T T8I B 9T & 2 | HEHT o fIuuE Jeeees gy 4,
IO T IdT T o 90 Ush Taeor foharm | Taeqor o giomdt & 91 =el o
I TUIE h STaSlg SUHIRT 39 HFTHT oh IcdTel ohl FTRITRI o Icaral § T
T R T @ Y | IUARAT oSS! TS W 3cATGH i 3okl 3T TUIal
HNU IR-GR TS I8d 9 Afehd o IR J 38k 3cd1el <hl U899 Tal &t T
WY | eh HRU K] hl Tkl H glg & & W W@ off, IRomHEEET Ay
e 9 | fIquE Jereeh, ERY 9 T 1w TR foh ‘qeureiedt fafiee’ 3earg
¥ grafd agd mewql fuR § weh ol o e T R
‘geaTStett fafteg’ sH-ar fof & fob 396 IuAT SR 0 38 IcuTel oh
g L Toh ? Afg IR Fofa @ T wme, @t “geuterett fafiee’ @ soeh
YIRS ol hid-shd & a9 e, gwemsy |

‘Pushpanjali Ltd.’, is manufacturing chocolates, biscuits, cakes and other

similar products. The company is not generating enough profits.
Saurabh, the Marketing manager of the company got a survey conducted
to find out the reasons. The findings of the survey revealed that in spite
of better quality, the customers were not able to distinguish the products
of the company from its competitors. Though the customers wanted to
buy the products of ‘Pushpanjali Ltd.” again and again because of its good
quality, but they were not able to identify its products in the market.
Because of this, the sales of the company could not pick up resulting in
inadequate profits. Saurabh, the Marketing manager now realised that
‘Pushpanjali Ltd.” had forgotten to take one of the most important
decisions related to the product.

What decision should ‘Pushpanjali Ltd.” take so that its customers are
able to identify its products in the market ? Explain the benefits that may
result to ‘Pushpanjali Ltd.” and its customers if the above decision is
taken.
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23.

24.

Qus q
SECTION E

TR Jey ki F=feiiaa aeient sl TwEEy

(%) THI I,
(@) Tifd s1eRM,;
() wrElcHS BRATEM |

T
M oY & fiigd gl 1 |9ssy
(%) & faurm,
(@) AfUsR va I, qe
() ST |

Explain the following techniques of scientific management :

(a)  Time Study;
(b)  Motion Study; and

(c) Functional Foremanship.
OR

Explain the following principles of general management :

(a)  Division of Work;
(b)  Authority and Responsibility; and

(c) Discipline.

¥ 2000 H 3-9IRE faffide’ o o794 T ITRH fohU | 36k TIUH & 0
HFT o U hdd ¢F HUUR! dUT 3 fOUT ¥, Tk 3Idred faum dur U
e fawmT | IS $© aui § ST gRT MYfd ThT T IcqTGl a9 SEH hi

TS Q13T 3 AR UTed shl | Y= bl U <hl Jrgarst | fagama on
IR AT 38 HE LA hl TaaaAdr &t T8 off | Jowed 3 98 vgan i amed §

Tt w0 s Aol o ot st stfeer Tadadr @ S S SAEvIeRal § | SaH

13
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s Aifora fofr foen 6 3= erfoemifart o1 orefimeet W frmor g
LT | 3TH FTe | Teedi hl et 9 T3 3N 37 o Ak g& |, 919
& wEaqul (R i o i el 0 ¥ | 3Heh IRUTREEY 39 SFeE™ J 984 9
&=t 7 faferar med o ot | IdHE O sEeRt Jee @ oW H 8 T@T 7 aT gHeh
foestt # 91d YEC § | SHT WSATCHS el 39 [vriY e d uiafdd &
T} 3T gH §IR AN 38 IO H M B @ 7 |

(%) W&y Wl IW FEURON ! YgaTHT Feehl TERIAT | HFoft 5 5igd § &l

o fafaerar yred s it qen fogen # soehl e @i o |

(@) 394 (F) H T T3 SFAERON o HEd o Ui fohg THST |
‘E-Solutions Ltd.” started its operations in the year 2000. At the time of

its inception, the company had only ten employees with two departments,
a Production department and an Administration department. The
products supplied and the services provided by the company started
gaining popularity over the years. The management had faith in the
abilities of the employees and thus they allowed them freedom of action.
The management recognised that the decision-makers at different levels
of the organisation need to be given more autonomy. They took a policy
decision that there will be less control of superiors over subordinates.
This increased the role of the subordinates in the organisation and now
they were in a position to take numerous as well as important decisions.
As a result, its business has diversified into many areas. Presently, it has
its operations throughout the country with seven branches overseas. Its
organisational structure has now changed into divisional structure and
ten thousand people are working with the company.

(a)  Identify the concept of management which helped the company to
diversify into many areas and branches abroad.

(b)  Explain five points of importance of the concept identified in (a)
above.
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25.

‘Tetdue sfean fafies’ =1 e, e, SEshAl 9o X i 36 YR i
TG HIEhideh foEd 8 Hald 3 IRl 1 TS H AN 6T FHILSH
H o 3T H TR T B | B o YEE § Hall, Higed qdT HERA 9
Tefyq wfirg =afthea @ | 38 g Fol forn @ 6 9 3w gu gan wfias,
il AT HATHRI hl Teh HF Y Ul | HEIHT 4 379 HISATcHS GT=HT Al
freitor we St foRamsti o1 wEd weh foham 8 | 5ok qenq faftem fawmn &
wgEt s e ot e T ] | PR 3, I w favmte s R, e e s
el ARl hl T, YRR AT IMEYAS ANl kT fovewur s form 7|
Hrl-forator Rl T <61 Ifsha o ST =T 3c9e g3 39 T IFHIGAR % au ohi
fosm & “fp wel’ 1 foepfia w0 & fow 3w fopan o o | 3@ fe wfifean
T RIS IR Sorarei-er Hifean ® yamia foham mam | 5@ 3TdeAt i sTg 3
T |

Sugeh =feid WishaT 1 qU W o forg fren gro feaifea febg S amel a1
=T ! FHEATT |

‘Entertainment India Ltd.” has been incorporated with the objective of

entertaining people by organising festivals, programmes and other
similar events depicting the rich cultural heritage of the country. The
company management has renowned personalities from the field of art,
literature and culture. They decided to give a platform to young budding
musicians, poets and artists. The company decided its organisational
structure by grouping similar jobs together. Thereafter, the heads of
different departments were also appointed. Nisha, one of the heads, did
an analysis of the number, type and qualification necessary for people to
be appointed. The information generated in the process of writing the job
description and the candidate profile was used to develop ‘Situations
vacant’ advertisement. This was published in print media and flashed in
electronic media. This brought in a flood of response.

Explain the other steps which Nisha has to perform to complete the
process being discussed above.
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